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Technical Section: 

  

1.      what is the most commonly used display device in monitors. (CRT). 

2.      main() 

{ 

    int i=6720,j=4; 

  

    while(i%j= =0) 

   { 

       i=i/j; 

       j=j+1; 

   } 

} 

  

    What is the value of j  at the end of the loop;. 

 . 

  

 Verbal section: 

 

1. convert the following sentence into indirect speech 

    She said, ”I  lived here for many years”. 

2. convert the following sentence into passive voice 

    Will the postman post the letters? 

. 

3. what is the meaning of the phrase “ Stuck  between the two guns”      

4. In the following options what is the best phrase which replaces the underlined phrase 

in  

   the given sentence. Children must have to be take care while crossing the roads 

A)    should have to be B) must be C) have to be D)should be 



5. What we call the person who “ chatter continuously and unintelligently”  (Ans: Jabber) 

6. In a sentence the word known as stumbling is underlined and asked what is similar 

    Word (lurching) 

7. A jumbled word known as L O R F S H U I         If  the word is arranged in correct  

                                               1  2  3 4 5  6  7 8    

    order then what will be the order of number ( Flourish – 4 1 2 7 3 8 5 6) 

8. Question about Punctuation mark. 

 

One RC was given on the topic of  extra terrestrial life ( 5Q).( It will become easy if u go 

through the ques) 
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